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Note : This paper is of Eighty (80) marks divided into three
(03) sections A, B and C. Attempt the questions
contained in these sections according to the detailed
instructions given therein.

SECTION–A/

(Long Answer Type Questions)/

Note : Section 'A' contains four (04) long answer type
questions of Nineteen (19) marks each. Learners are
required to answer any two (02) questions only.

(2×19=38)
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1. What do you understand by a Matrix ? Give a detail
description of the properties of Matrices.

2. Write an essay on Time Series.

3. A firm's total revenue and total cost functions are :

R = 25Q – 3Q2

C= 
1
3

 Q3 – 3Q2 + 16Q + 20

Find out the level of output of the firm in the state of
equilibrium.

R = 25Q – 3Q2

C= 
1
3

 Q3 – 3Q2 + 16Q + 20

4. Compute the standard deviation from the given table :

Class Interval 0-10 10-20 20-3030-40 40-50 50-60 60-70 70-80 80-90 90-100

Frequency 8 10 7 9 11 15 12 10 8 10
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0-10 10-20 20-3030-40 40-50 50-60 60-70 70-80 80-90 90-100

8 10 7 9 11 15 12 10 8 10

SECTION–B/

(Short Answer Type Questions)/

Note : Section 'B' contains eight (08) short answer type
questions of eight (08) marks each. Learners are required
to answer any four (04) questions only. (4×8=32)

1. Explain ‘Input-Output Analysis’ in brief.

2. What do you understand by ‘Bar Diagram’ ? Explain the
usefulness of ‘Bar Diagram’ in Economics.

3. Compute the ‘Arithmetic Mean’ from the given table :

Class Interval 100-110 110-120 120-130 130-140 140-150
Frequency 5 6 8 7 4
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100-110 110-120 120-130 130-140 140-150

5 6 8 7 4

4. Find out ‘Marginal Utility functions of x and y from the
utility function
U = x2 + 5 x y2 + 3y3.

U = x2 + 5 x y2 + 3y3 X Y

5. The marginal revenue function of a firm is MR = 10-2Q j.
What would be the total revenue of the firm after sale of
five (05) units.

MR = 10-2Q j

6. A production function is 
2 2

Z ( , ) : Z
x y

f x y
x y

. Prove

that this is a homogeneous production function. Also find
out its degree of homogenity.

2 2

Z ( , ) : Z
x y

f x y
x y
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7. Explain the different kinds of Index Number.

8. Define the ‘Regression’ and highlight its importance.

SECTION–C/

(Objective Type Questions)/

Note : Section 'C' contains ten (10) objective type questions
of one (01) mark each. All the questions of this section
are compulsory. (10×1=10)

1. Zero is :

(a) Natural number

(b) Integer

(c) Mixed number

(d) Imaginary number.
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2. The value of 
1

0

xe dx  is :

(a) ex

(b) e

(c) ex–1

(d) e–1

1

0

xe dx

(a) ex

(b) e

(c) ex–1

(d) e–1

3. The production function Q = 5L0.4 K0.9 would provide :

(a) Increasing return to scale

(b) Decreasing return to scale

(c) Constant return to scale

(d) None of the above.
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Q = 5L0.4 K0.9

4. The median of the deta series. 3, 13, 9, 11, 7, 5 is

(a) 7

(b) 8

(c) 9

(d) 10

5. The algebraic sum of the deviations of the values of different
items from their arithmetic mean is :

(a) Greater than Arithmetic mean

(b) Less than Arithmetic mean

(c) Equal to Arithmetic mean

(d) Zero.
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6. The condition for a symmetric deta distribution is :

(a) Mean > Mode > Median

(b) Mean = Mode = Median

(c) Mean < Mode < Median

(d) Mean < Median < Mode.

> >

= =

< <

< <

7. Explains the cause and effect relation :

(a) Correlation coefficient

(b) Regression Coefficient

(c) Coeffecient of Variation

(d) All the above.
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8. If the Arithmetic mean of a deta series is 4 and Harmonic

mean is 1, the Geometric mean of the series is :

(a) 4

(b) 3

(c) 2

(d) 1.
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9. Matrix 
1 0 0

0 1 0

0 0 1

 is.

(a) Identity Matrix

(b) Diagonal Matrix

(c) Square Matrix

(d) All of the above.

1 0 0

0 1 0

0 0 1

10. The formula of coefficient of Price elasticity of demand is :

(a)
Q P

.
P Q
d
d

(b)
P Q

.
Q P
d
d
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(c)
Q P

– .
P Q
d
d

(d)
P Q

– .
Q P
d
d .

(a)
Q P

.
P Q
d
d

(b)
P Q

.
Q P
d
d

(c)
Q P

– .
P Q
d
d

(d)
P Q

– .
Q P
d
d .
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